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F A 26 £F FE AT HA 1% 3R 5T

FHE T (2 - RS R)

RIE1 | BRR2 | ek | Eai4 | x5 | sRI6 | SR/ | s | a0 | Xm0 Tl | Sarm |
S2REY S 3.38 3.30 3.26 3.52 3.60 3.45 3.48 3.52 3.51 3.50 3.45 34.52
EREERE 0.57 0.59 0.62 0.57 0.64 0.68 0.63 0.60 0.60 0.62 0.61 6.12
Xéﬁ;ﬂ?/r N IO EE SR =+ £ 3
MR (S, SR EREA ~ R A A E TOI0EBE DA — ASH Y ICHEHL-FH RO FHERYET,
->Z<E¥1iﬂi‘%§‘|‘(ii§ﬁﬂiﬁiﬂﬂ~ REFTMETHDICEBEDEFE— AHYOFEMREFTDOFHELTVET,
BEXDR TR -RERE - - - - _ - - -
RPI—F| RD%&W T | 2 | s | x4 | a5 | a6 | w7 | o8 | a9 | sxi10 |sHmeE B s e s
2REY 3.38 3.30 3.26 3.52 3.60 3.45 3.48 3.52 3.51 3.50 3.45 34.52
L2REERE 0.57 0.59 0.62 0.57 0.64 0.68 0.63 0.60 0.60 0.62 0.61 6.12
3.39 3.32 3.24 3.50 3.58 3.36 3.41 3.47 3.50 3.46 3.42 34.24
01 BiI% 0.57 0.58 0.63 0.60 0.79 0.74 0.69 0.65 0.62 0.66 0.65 6.54
3.39 3.30 3.29 3.58 3.61 3.56 3.55 3.60 3.54 3.56 3.50 34.97
02 HHZ 0.55 0.56 0.59 0.52 0.54 0.59 0.56 0.53 0.56 0.55 0.55 5.55
3.41 3.31 3.26 3.61 3.74 3.70 3.66 3.63 3.58 3.66 3.56 35.56
03 SEEm 0.55 0.61 0.61 0.51 0.46 0.50 0.52 0.52 0.54 0.52 0.53 5.32
3.48 3.44 3.47 3.60 3.58 3.59 3.60 3.56 3.54 3.57 3.54 35.43
04 Bh#k 0.55 0.59 0.54 0.50 0.51 0.50 0.51 0.53 0.57 0.53 0.53 5.31
3.34 3.28 3.24 3.48 3.58 3.41 3.48 3.50 3.47 3.45 3.42 34.23
06 [EEEniEes 0.59 0.60 0.64 0.57 0.56 0.68 0.63 0.61 0.62 0.62 0.61 6.13
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F A 26 £F FE AT HA 1% 3R 5T Sl T 1 (24K F R 53R

RFA T m - R ERE

X2a—K| RDAF B LI EAELEEE S EEE L AEGAELEEE G E SN E RS E R
2RFEY 3.38 3.30 3.26 3.52 3.60 3.45 3.48 3.52 3.51 3.50 3.45 34.52
LRZERE 0.57 0.59 0.62 0.57 0.64 0.68 0.63 0.60 0.60 0.62 0.61 6.12
3.64 3.56 3.56 3.70 3.80 3.63 3.61 3.61 3.74 3.70 3.65 36.53
01 BEER 0.55 0.58 0.59 0.49 0.44 0.59 0.61 0.60 0.50 0.56 0.55 5.51
3.50 3.41 3.33 3.53 3.49 3.28 3.36 3.42 3.47 3.45 3.42 34.24
02 £ EBR 0.58 0.60 0.71 0.58 0.65 0.88 0.81 0.66 0.67 0.72 0.69 6.87
3.43 3.32 3.41 3.61 3.66 3.53 3.56 3.63 3.61 3.60 3.54 35.37
03 BREXIER 0.52 0.53 0.51 0.49 0.50 0.61 0.54 0.50 0.52 0.52 0.53 5.25
3.69 3.68 3.58 3.74 3.74 3.75 3.71 3.70 3.72 3.73 3.70 37.04
04 N 0.48 0.49 0.51 0.45 0.45 0.44 0.47 0.48 0.49 0.46 0.47 4.71
RANIBERF@ES S 7
ERT 1
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M - ERR
RBEXLR
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F A 26 £F FE AT HA 1% 3R 5T

EE-FEDNTY L -REFEE

Sl T 1 (24K F R 53R

X2a—K| RDAF SR | a2 | eIl | x4 | RS | iRha6 | R/ | I8 | Rh9 | sRmi10 |SHmcE ) aE s at
2RFEY 3.38 3.30 3.26 3.52 3.60 3.45 3.48 3.52 3.51 3.50 3.45 34.52
LRZERE 0.57 0.59 0.62 0.57 0.64 0.68 0.63 0.60 0.60 0.62 0.61 6.12

3.40 3.32 3.26 3.54 3.61 3.47 3.49 3.53 3.53 3.52 3.47 34.67

01 BT 0.56 0.58 0.62 0.56 0.67 0.67 0.63 0.60 0.59 0.61 0.61 6.10
3.34 3.28 3.24 3.48 3.58 3.41 3.48 3.50 3.47 3.45 3.42 34.23

02 EEY 0.59 0.60 0.64 0.57 0.56 0.68 0.63 0.61 0.62 0.62 0.61 6.13
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F A 26 £F FE AT HA 1% 3R 5T FHE T (2 - RS R)

FE-2E-REREANTEY S - RERE

X2a—K| RDAF R | RE2 | XS | ®ZE4 | /M5 | Xkf6 | F&EI7 | X[EI8 | /xR | %f10 |FHE | FEESE
2AREY 3.38 3.30 3.26 3.52 3.60 3.45 3.48 3.52 3.51 3.50 3.45 34.52

= 0.57 0.59 0.62 0.57 0.64 0.68 0.63 0.60 0.60 0.62 0.61 6.12

_ 3.28 3.18 3.08 3.49 3.58 3.3/ 3.40 3.42 3.43 3.42 3.37 33.65

01 RE1FE[EE] 0.60 0.63 0.67 0.61 0.59 0.74 0.71 0.68 0.66 0.69 0.66 6.59
3.48 3.39 3.35 3.59 3.65 3.50 3.53 357 3.59 3.58 3.52 35.23

02 REI1ELEE] 0.56 0.57 0.62 0.55 0.54 0.67 0.62 0.58 0.59 0.60 0.59 5.91
3.29 3.22 3.23 3.45 3.60 3.38 3.44 3.49 3.44 3.41 3.40 33.95

03 RE2F[GE=] 0.57 0.59 0.58 0.56 0.54 0.69 0.62 0.60 0.60 0.62 0.60 5.96
3.38 3.34 3.32 3.44 3.56 3.41 3.44 3.46 3.48 3.45 3.43 34.30

04 RE2ELEE] 0.55 0.56 0.56 0.58 0.56 0.68 0.64 0.61 0.59 0.62 0.60 5.95
3.66 3.59 3.67 3.84 3.57 3.59 3.66 3.46 3.67 3.66 3.64 36.36

05 RE2E[EE] 0.54 0.58 0.50 0.37 0.59 0.58 0.51 0.69 0.47 0.51 0.53 5.34
3.29 3.23 3.16 3.53 3.58 3.49 3.49 3.58 3.48 3.49 3.43 34.32

06 Baz[EE]) 0.55 0.57 0.61 0.54 1.07 0.66 0.61 0.54 0.59 0.59 0.63 6.34
3.49 3.42 3.28 3.59 3.67 3.53 3.64 3.69 3.58 3.60 3.55 35.49

07 Baz[EE) 0.56 0.57 0.67 0.52 0.51 0.64 0.54 0.49 0.57 0.55 0.56 5.61
3.25 3.19 3.16 3.51 3.60 3.51 3.51 3.53 3.49 3.50 3.43 34.25

08 HBE[FEE] 0.57 0.58 0.63 0.56 0.52 0.60 0.58 0.60 0.58 0.59 0.58 5.81
3.63 3.42 3.29 3.71 3.73 3.58 3.69 3.74 3.72 3.67 3.62 36.19

09 HEGEE) 0.48 0.56 0.61 0.45 0.48 0.62 0.50 0.44 0.48 0.54 0.52 5.16
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= REHE [F=]
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F A 26 £F FE AT HA 1% 3R 5T

Sl T 1 (24K F R 53R

- FER (18§
FER Q2F)
X1 - BERER (15
—— Xl -\ R QF)

KPO—F|  Xp & SR | SERI2 | X3 | EAmi4 | SR5 | EAni6 | SR/ | A8 | SRMIO | SRMI10 | SRl E B s e &)
N ] 3.38 3.30 3.26 3.52 3.60 3.45 3.48 3.52 3.51 3.50 3.45 34.52
S2REERE 0.57 0.59 0.62 0.57 0.64 0.68 0.63 0.60 0.60 0.62 0.61 6.12
X% 3.62 3.49 3.46 3.74 3.82 3.57 3.54 3.63 3.73 3.67 3.63 36.27
01 (14F) 0.54 0.58 0.62 0.46 0.43 0.63 0.64 0.56 0.51 0.60 0.56 5.58
TE% 3.66 3.64 3.68 3.65 3.78 3.70 3.69 3.57 3.75 3.73 3.69 36.85
02 (2%) 0.56 0.57 0.51 0.52 0.46 0.54 0.55 0.63 0.49 0.50 0.53 5.34
EM-ERER 3.52 3.43 3.34 3.55 3.48 3.27 3.34 3.41 3.48 3.45 3.43 34.27
03 (14E) 0.59 0.61 0.73 0.58 0.66 0.90 0.83 0.67 0.68 0.74 0.70 6.98
EM-ERER 3.34 3.23 3.23 3.37 3.54 3.40 3.49 3.43 3.40 3.43 3.39 33.86
04 (2%) 0.53 0.54 0.48 0.54 0.55 0.55 0.55 0.60 0.55 0.55 0.54 5.44
REXIER 3.44 3.27 3.41 3.66 3.75 3.64 3.65 3.72 3.67 3.70 3.59 35.92
05 (14F) 0.51 0.53 0.50 0.47 0.44 0.52 0.48 0.45 0.49 0.47 0.49 4.86
REXIER 3.40 3.40 3.40 3.53 3.51 3.35 3.43 3.49 3.53 3.44 3.45 34.47
06 (2%F) 0.53 0.52 0.53 0.51 0.56 0.71 0.61 0.54 0.54 0.57 0.56 5.63
E=EA 3.65 3.62 3.51 3.71 3.69 3.69 3.65 3.65 3.67 3.67 3.65 36.52
07 (15F) 0.50 0.51 0.52 0.46 0.47 0.47 0.50 0.49 0.52 0.49 0.49 4.92
E=EA 3.90 3.94 3.92 3.86 3.94 3.98 3.98 3.88 3.96 3.98 3.94 39.35
08 (24F) 0.30 0.24 0.27 0.34 0.24 0.14 0.14 0.38 0.20 0.14 0.24 2.38
REER - 2ERIBEEFEYT 52
BN
4.20 ——
AHETEY 400 ~
ERRH 3 —— 2Ty
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F A 26 £F FE AT HA 1% 3R 5T

HoOI2H - O—X R FH S ZERE

Sl T 1 (24K F R 53R

Roa—F|] X% SRR | a2 | cemid | x4 | RS | iRha6 | R/ | semI8 | Rh9 | sRm10 |SHmcE ) sr s at
2RFEY 3.38 3.30 3.26 3.52 3.60 3.45 3.48 3.52 3.51 3.50 3.45 34.52
LRZERE 0.57 0.59 0.62 0.57 0.64 0.68 0.63 0.60 0.60 0.62 0.61 6.12

3.28 3.22 3.18 3.54 3.52 3.53 3.46 3.57 3.50 3.50 3.43 34.29

01 DERIEE] 0.51 0.52 0.58 0.53 0.57 0.65 0.60 0.52 0.56 0.57 0.56 5.60)
3.52 3.52 3.48 3.73 3.81 3.75 3.75 3.73 3.70 3.78 3.68 36.77

02 EERIGEE] 0.54 0.57 0.57 0.44 0.39 0.48 0.43 0.44 0.46 0.41 0.47 4.74
3.70 3.68 3.73 3.78 3.80 3.83 3.85 3.85 3.76 3.84 3.78 37.79

03 EERERLEE] 0.46 0.47 0.45 0.42 0.40 0.38 0.36 0.36 0.43 0.37 0.41 4.08
3.24 3.02 3.21 3.62 3.78 3.73 3.46 3.70 3.62 3.68 3.50 35.05

04 BrR[E=] 0.53 0.49 0.60 0.49 0.45 0.44 0.56 0.46 0.52 0.47 0.50 4.99
3.54 3.46 3.34 3.70 3.83 3.68 3.75 3.79 3.69 3.74 3.65 36.54

05 BrRrUEE] 0.55 0.53 0.59 0.46 0.37 0.57 0.47 0.41 0.48 0.46 0.49 4.89
3.23 3.16 3.10 3.48 3.55 3.29 3.47 3.49 3.38 3.35 3.35 33.50

06 ERER[EE] 0.47 0.54 0.59 0.54 0.58 0.70 0.63 0.58 0.61 0.63 0.59 5.87
3.38 3.28 2.87 3.48 3.52 3.29 3.46 3.56 3.40 3.38 3.36 33.62

07 ERR[EE] 0.57 0.58 0.76 0.56 0.61 0.74 0.62 0.56 0.64 0.62 0.63 6.28
3.19 3.13 3.13 3.42 3.60 351 3.49 3.58 3.46 3.48 3.40 34.00

08 Eai—T+%R[EE] 0.55 0.48 0.55 0.53 0.53 0.57 0.50 0.49 0.57 0.54 0.53 5.31
3.93 3.74 3.81 3.89 4.00 3.96 3.96 3.93 3.85 3.96 3.90 39.04

09 Eai—T+R[EE] 0.26 0.44 0.39 0.31 0.00 0.19 0.19 0.26 0.36 0.19 0.26 2.59
3.44 3.43 3.34 3.54 3.70 3.69 3.64 3.67 3.60 3.64 357 35.68

10 ZE—VR[EE] 0.64 0.64 0.65 0.61 0.53 0.57 0.58 0.54 0.58 0.55 0.59 5.88

BOS$H - a—XARFREEFET 52

70 ®BMe

—— (KT
= DER [ER]
EiE% [EX]
EfER [EE]
——8hR [EE]
—o—ExR [EE]
——EER [EE]
—E&ER [FE]
Ea—T1 % [ER&]
——Ea—T1% [BE]
- R—Y% [ER]
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F 265 B RTHIR R AT

FE-EERE(FRSH)

FR-EEBERER _
Roa—k RoaE#%H | _ FE _ _ — BE _

B R E R E R E S I L IR EC IR B

60 AL [6043FKiE |30/ KiEm |04 60 AL [6043FKiE |30/ |04

~30% ~30%
2K 2.8% 6.6% 17.6% 73.1% 3.0% 8.9% 24.6% 63.5%

01 BE1E[ES) 1.6% 1.9% 12.2% 84.2% 2.4% 5.9% 19.5% 72.2%
02 RE1FE[EE] 3.5% 6.5% 14.3% 75.7% 3.8% 7.7% 20.3% 68.2%
03 BE2E[EE) 2.1% 4.3% 17.8% 75.8% 1.7% 6.1% 25.3% 66.9%
04 RE2H[EE] 4.4% 11.6% 19.0% 65.0% 4.0% 12.3% 26.2% 57.4%
05 BE2FE[EH]) 1.7% 1.7% 5.1% 91.5% 1.7% 1.7% 3.4% 93.2%
06 Has[Ex] 0.7% 6.7% 22.4% 70.2% 1.5% 10.4% 30.7% 57.4%
07 Has[EE) 2.5% 8.2% 36.1% 53.3% 3.7% 15.8% 40.5% 39.9%
08 HE[EE] 1.7% 2.0% 14.0% 82.3% 1.9% 4.8% 22.6% 70.8%
09 HEUEE] 3.6% 7.3%  27.3%  61.8% 3.6% 9.1%  41.8%  455%
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F 265 B RTHIR R AT FE-EERE(FRSH)

RESLH-2ER _
Knd—F| Ea&m | ¥ — — — BE —
&E13  [ERI13 M8 [FXM13 [EE14 [EE14 0 [RE§14 0 [EE14
607 LAE |60 KE [304KE (04 60 LAE |60 KE [304KE [0
~3053 ~3053

EX L 2.8% 6.6% 17.6% 73.1% 3.0% 8.9% 24.6% 63.5%
FER

01 (14F) 16.6% 26.5% 18.4% 38.6% 5.4% 12.7% 26.2% 55.7%
FHER

02 (2%F) 4.2% 3.2% 7.9% 84.7% 4.3% 3.7% 14.9% 77.1%
ESDRPCRiEA

03 (1) 5.5% 8.2% 11.8% 74.5% 13.5% 13.8% 14.0% 58.7%
=l - &R

04 (2%F) 0.0% 9.1% 12.1% 78.8% 0.0% 6.1% 27.3% 66.7%
REX{ER

05 (1) 0.9% 3.7% 11.9% 83.6% 0.5% 6.4% 20.5% 72.6%
REX{LR

06 (2%F) 4.4% 18.5% 23.7% 53.3% 4.5% 16.4% 29.1% 50.0%
RE %

07 (14F) 4.5% 10.4% 16.7% 68.5% 5.5% 4.6% 16.9% 73.1%
B %

08 (2%F) 4.0% 12.0% 22.0% 62.0% 2.0% 8.0% 28.0% 62.0%
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F 265 B RTHIR R AT

FE-EERE(FRSH)

IROsZ R -0—X R _
RHa—k[ RHEH | _ PE _ _ — BE _

BRI E R E R S B L IR EC IR B

60 AL [6043FKiE |30/ KiEm |04 60 AL [6043FKiE |30/ |04

~30% ~30%
21K 2.8% 6.6% 17.6% 73.1% 3.0% 8.9% 24.6% 63.5%

01 DER[ER] 0.7% 5.9% 20.2% 73.2% 1.7% 11.6% 28.9% 57.8%
02 ERRlEs) 0.0% 4.0% 16.0% 80.0% 0.0% 6.0% 20.0% 74.0%
03 EERGES] 2.6% 15.8% 42.1% 39.5% 0.0% 10.5% 44.7% 44.7%
04 BRR(EER] 0.0% 4.8% 24.2% 71.0% 0.0% 6.5% 53.2% 40.3%
05 gshrrEE] 1.8% 16.2% 43.2% 38.7% 6.3% 31.5% 46.8% 15.3%
06 EER[EE) 0.0% 10.1% 25.6% 64.3% 0.8% 9.9% 33.6% 55.7%
07 EER[EE] 5.7% 7.3% 34.1% 52.8% 5.7% 13.9% 45.1% 35.2%
08 Ea—T1R[EE] 0.0% 2.0% 23.5% 74.5% 0.0% 2.0% 35.3% 62.7%
09 Ea—T1R[EE] 0.0% 0.0%  40.7% 59.3% 0.0% 7.4% 51.9% 40.7%
10 ZR—YR[HEZ] 0.9% 6.6% 21.7% 70.8% 2.8% 11.2% 28.0% 57.9%
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e Lo ~avEEL K 3 R1-E = 363 352 43 359 3 324 3 339 339 4. 2. 337 54 167% 27.1% 18.2%  20.5° 3% 1584  184% 71.5% a1
== 5 A k| 3 I{as; = 3.27 ' 3.46 ' 350 3.0 35 333 ' 336 3 33.67 o 27.1%  27.1% 5%  7.0% 8% 18.4%  60.5% 42
=] ,‘?&i}ﬁl( £y >l * :\E.R & - ;ﬁé’l . 3.22 3.59 3 .05 323 353 .35 3 6.7% 37.89 A7 29.2Y9 30.2% 2339 .5%
T 5iEE) I 2 |IEas; FHE|RE SR 22E 338 3.09 .10 33 : 3.39 3.40 3 3.45 . 8% 20.0% 2% 12.5% 3% 3959 39
FRERIA( S, D% IER |& - e 3.38 333 3 33 343 3.38 .34 3 9.1% 13.6Y 0% 35.6% 22.9%  31.3Y 5
e EiEE) | 3 {B1— mEEC AR | IEE 357 3.26 33 3.1 : 3.54 331 3 3.41 0.0° 6% 27.3% b 6.7% 3% 33.3 44
SRR SR X Cc T=EoE EY 357 347 3 16 320 3.67 40 3 0% 4.3 3% 50.0% 356% 28.9° 3%
= sEsE) I 4 B1— BEs Y 3.74 3.64 51 3.1 : 3.23 362 3 4.01 230 3% 26.1% b 11.4% 9% 289" 48
FERHE( s 7k B i'j]IEl::.‘ e 3.61 357 3 17 332 3.33 55 3 3% 4.5 A% 69.6% 9.1% 36.49 9%
=z §E%) 1 2 {R1— IRER ol 3.73 3.26 a1 37 : 3.43 326 3 5.48 6 59 5%  6.8% o 0.0% 4% 4329 45
= %18 (F K A GREE= EE 3.57 365 3.7 J1 379 333 3 24 32 5% 0.0% 8% 86.4% 8.7% 21.7% 2%
iﬁ%&ﬁj‘tmﬁ%’f) I 3 f&R1-D SHER — 344 3 345 3.80 78 370 : 379 37 30 335 42 0.0% 0% 19.6% 73.9° 23%  6.8% 7% 69.6% 44
) i Ko 4 IR R 28 3.09 : 3.84 383 3 75 375 33.55 b 4.4% 9% 8.7 8%  15.9% 4
FEEDB LS K ®R1—E ﬁjfg B = 370 | 357 : 3.60 3.25 74| 374 3.69 4.3% 8.9% 86.7" T%  4.3% b 75.0% 9
: E — Y : 3.63 318 3 : 3.78 36.86 b 6.4% 7% 0.0¢ 3% 21.7% 4
F&E {,o)ﬁtféﬁ I Y 3 FHIIFER e S B 360 3 370 | 3.85 3.40 56 | 37 3.68 : 7.1% 14.9% 745" 0%  6.7% b 65.2% 4
g E %75 ] 47 34 3.89 340 3 74 343 36.83 b 21.4% 5% 4.3 1% 17.8% 4
%E{'O)ﬁaféﬁ L X 4 #1-C ERCIAN 364 357 3. 8 377 3.76 37 340 3. 3.55 ' 13.0% 57.1%  14.3° 3% 12.8% b 75.6% 6
i f E : 3.96 370 3 - 3.37 35.54 o 8.7% 3% 719 8% 19.1% 4
?&‘%wﬁgéﬁ I 22 -0 =T 361, 357, 383, 388 377 72 389 3.40 54 11.6% oLTh 13 LUK 21 i 63.8% 5
- E o : 3.77 372 3 : 3.84 33.98 b 27.9% 8% 4.3 A% 57.1% 4
F& %o)ﬁ&;éﬁ I % 1 fR1—A mE 3.70 366 3.44 3.80 3.64 3 19 3.89 3.76 : 2.3% 7.0% 53.59 3% 17.4% o 14.3% 1
: 3 F 2 — : 3 : 3.59 392 3 66 370 3 3.91 37.60 20.9%  30.2" 5% 2.4% A% 39.1%  39.19 14
EHHTU & 2 &1-B =T 51 344 373 3 88 38 3.74 3.73 24.4% 2% 46.5Y h 19.0% 9.1%
2 : Sz . 82 .88 3 3.77 37.34 22.2% ) 5% 0.0¢ b 19.0% 2
R ( TUGERIEA) 1 4 {R1—E ] 350 3 337 347 3.60 88 37 367 21.3% 02 465 00K 1% i 59.5% 3
B%) K 3 ] 48 34 : 3.67 368 3 76 384 36.68 b 38.3% 6%  11.19 1% 28.6% 4
fRpE (e m; R1—C = 333 3 43 359 3.37 61 37 3.72 22.2% 12.8%  27.7° A% 17.8% b 64.3% 4
- FEX K 4 $REE R 3 30 307 : 3.70 340 35 78 378 37.24 b 22.2%  24.49 T%  6.4% 8%  35.6% 43
BEHEU (58 % ®2—D MEER EE 33 328 : 346 339 35 56 3.63 3.70 00% 1259 4.4%  31.1% 4% 8.5% 35.6%
3 1 3 o 2 _ z 37 : 3.26 3.63 3 .95 3.75 3.58 36.96 25% 62.5Y% 17 6.7% 213% 63.8Y 46
BEHZFU( Eijg"f) I & fR2—E T J7 374 359 35 A1 35 3.74 3.50 0.0% 5% 25.09 b 11.1% 3.8%
1 : oo : : .57 .04 34 3.60 34.99 0.0% 0 0% 0.0Y o 26.7% 47
BENRRSR FER) I = 3 |[fR1—E = 344 34 349 370 335 3 49 | 351 3.57 0.0% 6.8% 93.2¢ 0%  16.7% 55.6%
Bk (KB H; S0 4 RS pi: 3 A1 3.36 3.63 43 35 - 353 35.72 U 2.3% 0 2% 0.0° 1% 70.8% 4
BERE e EEED) | N {£1-D hER  EE 44 33 : 3.44 365 3 50 350 3.43 0.0% 47% 9309 % 2.3% 12.5% 7
Wi (HE A 1 ztleE 17§== /i 3 .38 3.33 3.54 .62 37 - 3.46 34.27 0 0.0% 2059 .0% 0.0% -0 13.6% 25
ﬁ'zﬁmg@gz BhEEED) | & ®’1—A LR E % = .57 36 : 369 341 3 .70 3.64 343 0.0% 05% 79.5¢ 0% 2 3% 84.1%
= Wik (KB 5 1 1 .63 350 3.72 .38 35 : 3.69 34.26 0 00% 109 5% 0.0¢ 0/ 7.0% 4
& T hEEHEESD) B®1—-C = 3.64 3 . 3.69 3.59 .56 35 3.66 294 0.9% 8919 0% 9.1Y% 90.7% 4
£l £ 2 A 58 33 : 3.71 359 3 57 354 36.64 b 44 2o% O 9.8 ZLIX
BER #%*1-D =T 348 3 34 378 3.71 69 36 : 3.46 : 4.3% b 6.7% 86.7% % 43%  19.6% 68.2% 43
F I A 3 A 27 33 : 3.84 364 3 67 351 34.65 b 8.5% 2.0h 274, 438 190K
EE T fR1—E =T 336 3 36 357 3.76 67 36 : 3.56 - 0.0% h0In BoTk 274 6.7k 6% 73.9% 44
E I A 4 DREN - B8 14 3 : 3.80 3.66 67| 36 356 b 5.1% 6.0% 4.3 T%  8.9%
HE B®’1— XA -5 = 3.10 11 3 3.61 3.72 .62 3.64 .62 0.0" | 15.4% 3% 299 9% 82.2% 46
REXE A 5 C IR E -3 BHE 2.98 70 38 3.66 3.81 3 : 36 0% 0.0% o 79.5% 2% 19.6Y 0
IZES 21— ET R AN 3.19 290 3 82 370 3.75 83 370 A1 4.4Y 0%  5.3% 0.0%  5.1¢ 6% 73.9% 46
REXE A 3 D PET R BHE 3.13 10 37 3.63 3.77 3 : 36 A% 8.9% b 94.7% 1% 20.5° 0
IHE ®2— XA B =i 3.50 2.68 3 16 3.53 3.70 .10 3.60 .96 6.1Y 9% 15.6% 0.0% 5.3 5% 74.4% 47
ﬂ-’iX'ﬂ:]I[ A 4 A IHE T EE 3.48 3 .23 287 3.47 3.66 377 - 35.08 1% 18.4% L] 71.1% 4.4° .3% 15.8% Ca i)
S (el B ®2—D ISE 1t = 3.54 350 15 3.41 : 2.38 25 3.67 3.82 : 3.56 : 0.0% 4% 16.3%  59.2% A% 4.4% 8% 78.9% 39
= : 5 - REXE = 34 : 3.42 300 2 53 285 3.80 35.61 24% 333 2% 6.3% b 8.9% 822 39
S5 ( Egi;{f) K #2—E RE =T 43 341 3.52 48 25 2.81 3.41 0.0% 3% 64.3% b 6.3% 2.2%
= i 2 — REXIE = 32 ' 3.43 346 3 52 298 2.70 34.12 45% 18.29 3% 0.0% b 14.6%  72.9° 46
SX( Egg) 7k *2—C EHE 26 328 3.50 31 3.4 3.09 2.84 0.0% 2% 77.3% b 4.8% 2.9%
1= &) 3 {f2— 2 351 : 3.26 3.52 3 44 352 2.86 3 28.38 0.0% 28.6° 0N 0.0% b 47.6% 47.6° 50
EERARE | K ®2—B BT : 3.49 337 3 43 348 3.60 .05 12.8% 12.8° 6% 71.4% v 13.6%  36.4° 6%
= 4 _ = 3.41 3.49 .30 31 : 350 3.58 3 30.48 ; 8%  17.0% 4 0.0% 6.4% 500 44
BERERE [ A R2—A T : 334 369 3 14 326 352 49 29% 4.4 0%  57.4% 41%  53.19 0%
1= 1 3] N s 3.11 3.31 67 34 : 3.37 3.50 3 34.89 9 Ah 6.7% A% 21.3% 3.1% 42.9% 44
FHRERE | A THBE HE 3.00 325 329 45 353 334 3 47 34 8.3%  6.3% 7% 86.7% 2 21.3%  14.9° 9%
EmpEEY B 3 #R1-D HE 3o, 298 32 ' 288 2. 397, 384 341 A8 89 0% _O%h oo 108 3% 2106 1A% 220k 49
= . 3.18 94 3 : 3.54 32.85 b 23.3% 8% 21.3Y 2% 13.3%
JasS -*7% I 4 H1ENE = 3.49 3 3.34 339 2.98 .16 31 357 : 2.3% 186% 5 3% 14.9° | 42.2% 47
- S35 A 5 =+ ME JE 46 33 . 339 2.96 3 19 297 35.66 3% 11.6% 8.1% 4.7 9% 14.9% ? 4
EERERE N Ha3ER EEe] 3.46 3 37 357 3.34 27 314 : 3.17 : 10.2% 27.9% 58.1° 7% 18.6% o 48.9% 6
T { Sk ERERE D 8 .38 338 : 3.49 3.32 3 : 3.00 3173 b 20.4% A% 2.49 6% 32.6% 4
[553561%2 ! B 2 BIZER vz EE 356 3 : 3.69 3.57 43 352 3.09 0.0% 24.5%  44.9" A% 7.1% b 44.2% 8
e e T = ERIEHRES ) .56 33 : 3.60 3.60 3 : 3.32 30.85 0 0.0% 9% 6.1Y d%  31.0% 4
|}$_=I=_|EL'1%E ! A 1 R1—-A A | 330 319 31 353 3.52 63 36 3.37 2.3% 21.9%  78.19 A% 22.4% b 59.5% 4
=5 £ : : 3.50 354 3 65 353 33.73 b 4.5% 1% 319 A% 24.5% 4
= IEL|'1%E I 7 2 ®R1—E =T 3.65 3 2.78 3.48 3.53 .56 36 3.53 : 4.7% 13.6% 79.5Y 1% 6.3 | 46.9% 3
=5 K | 2 i 41 238 : 3.30 353 3 62 361 35.35 b AT 9.5%  0.0¢ 3% 21.9%
|3$2|51%i I 7 #1-D e 359 3 88 365 3.37 63 3 : 3.54 : 0.0% b 32.6% A 0%  9.19 9%  68.8% 49
= K A 52 3 : 3.53 3.48 55 355 35.3 b 3.1% Dok O ok o
ﬁ':’,é,‘;bm Eé ] 3 {&R1—B o= 333 3 48 3.74 : 3.35 356 3 : 353 35 2.2 1% 18.8% : 3% 93 9% 75.0% 32
X R 21 3 : 3.78 3.47 37 341 35.2 b 2.2% 78.1%  0.0° 3% 39.5% J
{%E%;q EE I u%’éﬂ:ﬁ) H 4 1%1 —C 55;1 3.70 3.48 29 348 : 3.72 3.41 3.1 . 3.32 .25 3.1% £ 8.7% 8 0 .0% 9.4% -9/ 48.8% 45
& - ' 3.63 367 3 19 353 33.22 b 6.3% 7.0% 2.2 A% 21.9% 4
el Hohs I (RE/) A 1 fR2—D T 336 3.29 346 376 3.67 74 37 341 : 3.7% 31.3%  59.49 2% 2.2% b 68.8% 4
= : : 3.86 3.58 3 12 3.72 34.07 0 3.7% 9.4% 319 LN 8.7% 3
BREEZ 5l (&8 A 2 fR2—E T 378 367 329 356 3.86 46 35 3.67 : 6.7% 33.3% 59.3° 1% 12.5% b 87.0% 5
B : : 3.64 384 3 59 367 36.67 b 0.0% 93% 3.7 5% 28.1% 4
BEEE BRI (REM) X 4 F2—-A = 346 34 367 383 362 3 76 387 3.50 : 2.2% 26.7%  66.7° 7% 18.5% b 56.3% 9
EE I (RER X2 & = 35 49 349 3. 387 3 62 353 3 3.87 34.97 b 0.0% 152 ™ 67%  0.0% 33.3%  44.49 32
) X 2—C BHE 51 3.44 3.51 78 38 : 3.54 3.75 00%  6.3¢ 2% 82.6% s 0.0% 4.4%
3 {f2— =2 3.49 : 3.49 3.54 34 83 3.78 3.56 3 37.46 3%  8.3% b%  4.3% 40.0% 53.3Y 27
B T : 3.47 372 3 49 356 376 3 50 3 20%  2.0° 3%  85.4% 5 6.5% 19.67 3%
= 3.32 3.49 3 12 3.70 ’ 3.62 .76 3.7 5.01 0.0 0% 6.0% 1 0.0% 0 6%  69.6% 17
EE 3.26 42 35 3.72 3.49 3 17 37 0%  4.4% o 90.0% 8.3% 20.8Y -0/
315 3 332 34 51 349 370 3 49 | 351 13 220 A% 6.7% 00% 6.0 8%  70.8% 46
21 318 3 4 350 344 3 52 360 3 35.13 2% 2.2% b 88.9%  0.0° 0% 10.0% 8% 4
: 321 3. 350 35 40 342 ' 3.61 : 5.3% ' 8.7% 87.0° 0%  6.7% 0%  84.0% 8
33 333 .50 341 342 3 36.12 ! 79%  26.3% 0% 29y 5| 13.3% 80.0" 50
31 oai| o2 it o2 45 34 o Taok e ooy 2 a4 135 8004
T i T oo ook a2, ok 16 2k Seb B T isex Do o 1e 45
- 323 3. 34.17 7% 140% 2097 6.1%  4.9% 5% 29.7% ' 46
24 5.9% 9%  60.5 9% 17.1% 54.1%
32. b 8.8% 5 b 34.19
4 1.7% 12_3&; ?54?’ 52.9% 332;0 16.3% 32.6‘;; 33'9% ig
8% 667% 10, A 12.1%  492.4% 6.5%
0.3% 10.3% Ah  36.4% 43
20.5% 59.0% 34
39
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FEN= 2H  B5IR =El4 R4 BERER KRBT ZB2 [XE3 &ZB4 %[5 &6 |%[7 &ZR8 X9 E‘M10|FEH A AFRTH 6%:?11/)31 6%2?;&% 3%2?;&% (E)%chﬁw 6%2?11/)41 6%2?;% 3%2?;&4?&% (E)’%fcﬁm AT AR
y y 7] y y 7]
~30% ~30%

Basic Studying H EEE ER 332 309 336, 355/ 368 359 3.77| 373 345| 357 351 35.12 0.0%  9.1% 50.0% 40.9%  0.0% 13.6% 455% 40.9% 22

PSR4 )yial | £ 5 ROIBIR #8x-I5040  EE 356 356 348 367 378 389 381 3.81 3.81 3.81 3.72 37.19 0.0% 7.7% 30.8% 615%  3.8% 26.9% 50.0% 19.2% 27

ERRIRGEEZE) I N | 2 B1—-C HRzH-Er  BHE 364 338 324 353 353 314 336 336 350 349 342 34.17 22%  22% 13.3% 82.2%  44%  89%  89% 77.8% 45

SUDRE 201 K| 4 RoEERN wREw-ER EE 334 323 323 337 354 340 349 343 340 343  3.39 33.86 0.0% 91% 12.1% 788%  0.0%  6.1% 27.3% 66.7% 35

LEflz R (BEE) T N | 5 {RE1—E HRZM-EK  EBHE 347 | 334 343 353 364 364 364 357 357 368 355 35.51 43%  65% 13.0% 76.1% 10.9%  8.7% 19.6% 60.9% 47

REEZEHEE I (K H 1 f&2—C S 348 | 343 333 360 373 368 363 355 359 369 357 35.68 26% 33.3% 23.1% 41.0%  2.6% 33.3% 25.6% 38.5% 40
REHEKZE A 2 ®#2—-B S 338 336 326 350 357 362 367 352 343 352 348 34.83 48%  71% 11.9% 76.2%  7.1% 16.7% 19.0% 57.1% 42

REETHREI (&%) A 4 R2—E S 352 353 338 367 369 3.71 368 367 360 369 361 3614 31.1% 244% 13.3% 31.1% 13.3% 37.8% 31.1% 17.8% 45

REEETHRE] (FER) | £ | 3 #2-D S 354 341 346 354 368 376 | 366  3.61 3.7 3.7 3.61 36.07 49% 26.8% 29.3% 39.0%  0.0% 29.3% 31.7% 39.0% 41

REHEKZE £ | 4 #2—-C S 350 339 320 341 370 366 339 357 352 364 350 34.98 2.3% 18.2% 27.3% 52.3% 15.9% 25.0% 38.6% 20.5% 44
REETHREN (FER) X 4 FR2FER T 373 355 373 373 400 382 373 373 373 373 375 3745 | 18.2% 545%  9.1% 182%  9.1% 455% 27.3% 18.2% 11

HKEMBEE I BFEHEEEL) B 3 IROsER EE 400 400 400 400| 400 400| 400 400 400 400 4.00 40.00 0.0% 00% 100.0% 0.0% 100.0% 0.0% 0.0%  0.0% 1

ol A 4 |BHOSFEIR mwepsmer  HE 389 389 389 400 400, 400 400, 400 400, 400 3.97 39.67 0.0% 222% 444% 33.3%  0.0% 22.2% 55.6% 22.2% 9
ALyPEE A 2 HRIOSEIR =wewsmar SHE 364 357 311 386, 386 393 393 393 369 392 380 38.04 7.7% 385% 46.2%  7.7%  0.0% 23.1% 46.2%  30.8% 14
EEHZTUFEEXR) I A 4 R1—A HRABR Y 3.77 3.73 3.75 3.80 3.73 3.77 3.77 3.73 3.72 3.74 3.75 37.51 7.3% 7.3% 14.6% 70.7% 10.0%  0.0% 275% 62.5% 44
EEHZTUFEEX) I A 5 &1—-B MRAE R Y 3.48 3.40 3.49 3.58 353 3.55 3.55 343 3.46 3.46 3.49 34.91 0.0% 75% 150% 77.5%  25% 10.0% 15.0% 72.5% 40
EEA £ | 1 R1-D $HREEXE S 400 375| 388 400 400 400 400 400 400 400 3.96 3963 87.5% 125%  0.0%  0.0% 87.5% 00% 125%  0.0% 8
EEA £ | 2 R1—-C $REREXE S 388 375 400, 400 400, 400 400, 400 400, 400 3.96 39.63 25.0% 50.0% 125% 12.5% 12.5% 62.5% 12.5% 12.5% 8
EEEI £ | 3 R1—A $HREEXE S 388 363 383 388 400 400 400 400 | 400 400 393 3925 625%  0.0% 375%  0.0% 50.0% 37.5% 125%  0.0% 8
HEE A 3 g2—-D |(#REzx S 325 338 325 363 375 363 375 375 357 357 355 3552  37.5% 125% 375% 12.5% 37.5% 12.5% 37.5% 12.5% 8
HEE R 4 g2—B (#RETE S 300 300 300 286 286 2.86 286 2.86 300 300 293 2029 14.3% 429%  0.0% 42.9% 14.3% 286%  0.0% 57.1% 7

HEE R 5 g2—A (HREEx S 343 357 343 357 357 357 357 357 343 329 350 3500 14.3% 714%  0.0% 14.3% 28.6% 57.1%  0.0% 14.3% 7

EEE £ | 1 R#1-D $HREEXE S 375 338 383 383 400 400 400, 400 386, 400 3.87 3873 37.5% 125% 50.0%  0.0% 12.5% 37.5% 37.5% 12.5% 8
EEE £ | 2 R1—-C $REREXE S 357 3.71 3.7 3.7 386, 386 386 386 3.71 386 3.77 3771 57.1% 429%  0.0%  0.0% 57.1% 28.6%  0.0% 14.3% 7

Haik | £ | 3 R1—A $HREEXE S 357 3.71 3.7 3.7 386 3.86 | 400 3.71 386 386  3.79 3786 857%  0.0%  0.0% 14.3% 42.9% 42.9% 14.3%  0.0% 7

HEE A 3 ®g2-D |(#REzx S 375/ 350 350 375 375 350 350 375 375 375 365 36.50 0.0% 50.0% 50.0% 0.0% 0.0% 66.7% 33.3%  0.0% 4
HEEI R 4 g2—B (HREE S 338 350 338, 350 363 375 375, 350 343 386  3.57 35.66  12.5% 25.0% 50.0% 12.5% 12.5% 250% 37.5% 25.0% 8
HEE R 5 g2—A (HREE S 367 333 350 367 367 367 367 367 367 383 363 36.33  16.7% 83.3%  0.0%  0.0% 33.3% 66.7% 0.0%  0.0% 6
EEE X | 3 g1—B (#REE S 350 350 350 383 383 383 367 383 367 367 368 36.83 16.7% 33.3% 33.3% 16.7% 33.3% 33.3% 33.3%  0.0% 6
EEA X 4 ®R1-E 4R F & S 343 | 343 343 386 3.1 3.7 3.7 3.7 357 3.71 3.63 36.29 14.3% 57.1% 14.3% 14.3% 14.3% 57.1% 14.3% 14.3% 7

B BEEEIR A 2 |HaSEIR #mr-Isq9 HE 350 350 320 355 380 335 355 370 360 3.60 354 35.35 5.0% 15.0% 450% 35.0% 10.0% 45.0% 30.0% 15.0% 20
ERNE iR A 3 |BHOSEIR #r-Jsq9  HE 336 336 332 373 382 355 368 382 350 3.68 358 35.82 45% 18.2% 40.9% 36.4% 13.6% 31.8% 31.8% 22.7% 22

ENRITERE K o1 RIOSEIR Br-ISEL EE 370 370 320 375 385 365 375 370 375 370 368 36.75 0.0% 31.6% 36.8% 31.6%  5.3% 421% 474% 5.3% 20
B K 2 RIOSEIR Br-IEL EE 400 386| 343 386| 400 386, 3586 400 400 386  3.87 3871 57.1% 28.6% 14.3%  0.0% 42.9% 42.9% 14.3%  0.0% 7

HEE H 1 {R2—E 418 & & S 338 288 325, 313 350 313 300, 338 313 313 3.9 31.88 0.0% 100.0% 0.0% 0.0% 0.0% 625% 12.5% 25.0% 8
HEEI A 2 g2—C (HRE®x S 350 350 375 375 400 400 388 375 400 3.88 380 38.00  42.9% 429% 14.3%  0.0% 42.9% 42.9% 14.3%  0.0% 8
EEE X | 3 g1—B (#REEE S 3.7 329 343 357  3.71 386 386 3.71 350 383 365 36.48  57.1% 28.6% 14.3%  0.0% 42.9% 42.9% 14.3%  0.0% 7
EEA X 4 ®1-—E 418 & & S 388 375 383 388 400 400 388 400 388 3.88 390 39.00  37.5% 50.0% 125%  0.0% 25.0% 37.5% 375%  0.0% 8
AR | X | 5 BOZER BE 375, 383 383 383 383 400 400 400 | 400 400 393 3925 75.0% 125% 125%  0.0% 62.5% 125%  0.0%  25.0% 8
TEERERE I £ | 2 ®R1—-E S 362 355 345 366 362 362 368 372 362 370 362 36.23 22%  22%  A3% 91.3%  22%  87% 13.0% 76.1% 47
THEERERE I £ | 3 ®#1—-C S 372 367 343 387 374 363 378 376 374 374 3.1 37.09 0.0% 00% 43% 957% 0.0% 00% 87% 91.3% 46
A&k GEEE) & 1 HR2—A S 3.22 3.18 3.04 3.24 3.22 2.74 2.91 3.15 3.15 3.02 3.09 30.88 23%  45% 13.6% 795% < 23%  2.3% 22.7% 72.7% 46
A&k GEEE) £ | 2 {#2-B S 2.98 2.91 2.93 3.07 3.02 2.82 2.89 3.00 2.93 2.96 2.95 29.51 0.0% 22% 13.3% 844% 0.0% 6.7% 15.6% 77.8% 45
A&k GEEE) £ | 3 &#2—-C S 3.13 3.13 3.10 3.29 3.13 2.97 3.10 3.23 3.00 2.94 3.10 31.00 0.0%  65% 12.9% 80.6% 0.0%  3.2% 19.4% 77.4% 31

HEEI A 1 {R2—E 4R & & S 3.7 357 386 400 386 386 400 386 386 386 3.84 3843 42.9% 28.6% 28.6%  0.0% 42.9% 28.6% 28.6%  0.0% 7
HEE A 2 g2—C |(HREx S 3.7 3.7 3.7 357 3.71 357 3.71 357 3.71 3.7 3.67 36.71  50.0% 33.3% 16.7%  0.0% 50.0% 33.3% 16.7%  0.0% 7
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04 BE2EEE] 3.0% 40%  19.2%  73.8% 4.6% 3.6%  30.0%  61.7%
05 RE2FE[EE] 2.8% 6.3% 18.0% 72.9% 4.0% 8.1% 23.3% 64.6%
06 BE2E[ER] 1.3% 2.5% 2.5%  93.7% 1.3% 2.5% 3.8%  92.4%
07 Has[EE) 1.3% 75%  10.5%  80.7% 1.5% 9.1%  15.0%  74.3%
08 Hos[EE) 2.4% 7.8% 11.7% 78.2% 1.9% 10.4% 22.1% 65.6%
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